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SODIUM THIOSULFATE,0.025N,4LITRE W2206

IODINE SOLUTION  .025N    1L W2251

Starch Solution, 4L W2121

Run Number: Constant: 16000

Parameter: SUPERVISOR REVIEW BY:

Analysis Method: ANALYST:

Analytical Summary Report

Normality1:

Normality2:

Allen & Flu

LB88820

Acid Volatile Sulfide

0.025

0.025

KETANKUMAR
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T1 - T2 

Diff (mL)

Value 

Corrected 
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Initial 

Weight 

(g)

1 PB100655BL 50 14:3007/14/20170.004.564.560.005.005.021 0.000.44

2 PB100655BS 50 14:3407/14/2017214.401.881.880.005.005.001250 2.683.12

3 I4184-01 50 14:3707/14/201792.063.405.281.885.005.041 1.161.60

4 I4184-01DUP 50 14:4007/14/201793.843.388.665.285.005.031 1.181.62

5 I4184-01MS 50 14:4407/14/2017337.180.320.320.005.005.031250 4.244.68

6 I4184-01MSD 50 14:4707/14/2017335.590.340.340.005.005.031250 4.224.66

7 I4184-02 50 14:5007/14/2017106.353.223.560.345.005.041 1.341.78

8 I4184-03 50 14:5307/14/201787.483.467.023.565.005.031 1.101.54

9 I4184-04 50 14:5607/14/2017107.943.203.200.005.005.041 1.361.80

10 I4184-05 50 14:5807/14/201768.393.706.903.205.005.031 0.861.30

11 I4184-06 50 15:0207/14/2017117.463.083.080.005.005.041 1.481.92
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1
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12 I4184-07 50 15:0507/14/2017108.153.206.283.085.005.031 1.361.80

13 I4184-08 50 15:0807/14/2017100.003.309.586.285.005.041 1.261.70

14 I4184-09 50 15:1207/14/2017174.952.362.360.005.005.031 2.202.64

15 I4184-10 50 15:1507/14/2017194.852.104.462.365.005.051 2.462.90
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1


